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Sl. No.1
QBID:1007351

From among the four options given. choose the most appropriate sequence of the four phrases

given below, to make a meaningful sentence :

{A) turn to the next page

(B) once vou get to the end

(C) to find the corrvect answers

(D)  of the quiz

Choose the correct answer from the options given below :

(1) (A). (C). (B). (D)

(2) (D). (B). (C). (A)

(3) (B). (D), (A). (C)

(4) (C). (A). (D). (B)
(A)
(B)
©)

(D) 4
Answer Given by Candidate : A

W N =

Sl. No.2
QBID:1007352

Choose the correctly spelt word.
(1) Egaliterian (2) Egalitarian
(3) Egalitirian {(4) Egaletarian

(A)
(B)
()
(D) 4
Answer Given by Candidate : A

W N =

Sl. No.3
QBID:1007353

Choose the correct sentence,

(1) Camera 1s piece of equipment used to take photographs.
(2) Camera 1s a plece of equipment used for taking photographs.
(3) Camera 1s a piece of equipment used to taking photographs.

(4) Camera 1s the piece of equipment used on taking photographs.

(A) 1
(B) 2
©) 3




(D) 4
Answer Given by Candidate : B

SI. No.4
QBID:1007354

Match List I with List IT.

Last I List IT
(word) (antonym)
(A) lively (I}  comfort
(B) release (II) discredit
{(C) bother (ITT) check
(D) appreciate (IV) dull

Choose the correct answer from the options given below :
(1) (A}-(IV). (B)-(III). (C)-(I). (D)-(II)
(2) (A)-(III). (B)-(IV). (C)-(I). (D)-(11)
(3) (A}-(IT). (B)-(IV). (C)-(I). (D)-(I1II)
4 (A)-(TV). (B)-(IT). (C)-(I). (D)-(I1T)

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Sl. No.5
QBID:1007355

From among the four options given. choose the word that is opposite in meaning to
‘professional’

(1) Unemploved (2) Student

(3) Amateur {(4) Executive

(A) 1
(B) 2
(c 3
(D) 4

Answer Given by Candidate : C

Sl. No.6
QBID:1007356

Identify the correct direct narration for the following sentence.

Moti asked Gangu whether the latter was in his sense.

(1) “Hey Gangu. are you 1n your senses now?  asked Moti.
(2) “Gangu. have vou lost your senses?” asked Moti.
(3) “Gangu. are you 1n your senses?” asked Moti.
(4) “Are you senseless. Gangu?" asked Mot1.
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Sl. No.7




QBID:1007357

Which of the following i1s a one-word substitute for ‘a government by the wealthy'?

(1) oligarchy (2) aristocracy

(3) plutocracy (4) Ikelptocracy

(A)
(B)
©
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.8
QBID:1007358

Pick out the synonym of the following word.

Optimist

(1) destructive (2) disappointed
(3) hopeful (4 funny

(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : C

SI. No.9
QBID:1007359

Fill up the blank with the correct form of verb :

Neither of the two plans approved.
(1) were (2)  was

(3 were being (4) had

(R)
(B)
(©)

(D) 4
Answer Given by Candidate : A

W N =

Sl. No.10
QBID:1007360

Identify the passive volce for the following sentence.

Do not insult the poor.
(1) The poor are not insulted. (2) The poor should not be insulted.

(3) Let the poor not be insulted , {4y Let the poor be not insulted.

(A)
(B)
©
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.11
QBID:1007361




Member of Parliament will lose his membership if he is continuocusly absents from his
sessions for :

(1) 30 days (2)y 60days
(3) 90 days (4) 120 days

(A)
(B)
(€
(D) 4
Answer Given by Candidate : A

W N =

Sl. No.12
QBID:1007362

When value of money exceeds the commodity value of money, it is called

(1) Full bodied Money (2) Credit Money
(3) Fiat Money (4) Fiduciary Money

(A)
(B)
(€
(D) 4
Answer Given by Candidate : Not Answered

W N =

Sl. No.13
QBID:1007363

Which of the following will become the first multilateral agency to open an office in the
Gujarat International Finance Tech City (GIFT)?

(1) Asian Development Bank (2) Jorld Bank

(3) New Development Bank (4) International Monetary Fund

(A)
(B)
(©
(D) 4

Answer Given by Candidate : D

W N =

Sl. No.14
QBID:1007364

Name the first Indian firm which has entered the so-called global carbon market through the

farm sector

(1) nurture farm (2) nature farm

(3) unique farm (4) carbon farm

(A)
(B)
(©
(D) 4
Answer Given by Candidate : Not Answered

W N =

Sl. No.15
QBID:1007365




A retired judge of a High Court is permitted to practice as a lawyerin

(1) Supreme Court of India

(2) Any Court of India

(3) High Courts other than the one from where he retired

(4) (1) and (2) only
(A)
(B)
(©

(D) 4
Answer Given by Candidate : A

W N =

Sl. No.16
QBID:1007366

Invariable Concomittance relations are like :

(A) The relation between Tree and Fruit
(B)  The relation between Fire and Coolness
(C) The relation hetween Smoke and Fire
(D) The relation between Earth and Smell

(E) The relation where absence of one 1= the negation of other

Choose the most appropriate answer from the options given below:

(1) (A) and (D) only
(2) (A). (B) and (C) only
(3) (C) and (E) only
(4) (A). (D) and (E) only

(A)
(B)
<
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.17
QBID:1007367




Match List I with List IT :

(A)
(B)
(C)

(D)

ListI List IT
Philosopher (I)  Rational
Truth (I} Taste
Tongue (IIT) Idea
Man (IVy) Eternal

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(A)
(B)

(©)
(D) 4

W N =

(A)-(IV). (B)-(I). (C)(II). (D)-(I1I}
(A)-(IT). (B)-(D). (C)-(IV). (D)-(ILT)
(A)-(IIT). (B)-(IV). (C)-(1L). (D)-(I)
(A)-(IID). (B)-(II). (C)-(I). (D)-(IV)

Answer Given by Candidate : C

Sl. No.18

QBID:1007368

Put all the statements in a specific order. Choose the option which indicates a valid argument

containing logical statement that is. where the third statement is a conclusion from the

preceding two statements :

(A) All Cats are Pens
(B) All Dogs are Pens
(C) All Dogs are Cats
(D) Some Dogs are Pens
(E) Some Pens are Cats
(F) No Cat 12 Hen
Choose :
(1) (C). (D). (E)
(2) (A). (C). (D)
(3 (B). (E). (F)
(4) (C). (E). (F)

(A) 1

(B) 2

(Cc) 3

(D) 4

Answer Given by Candidate : Not Answered




()
(B)
©
D)

Sl. No.19
QBID:1007369

Match List I with List IT -

List1
Bees
Mind
Snake

Human

List IT
() Consciousness
(I) Poison
() Honey
(IV) Thought

Choose the correct answer from the options given below :

(A)
(B)
(C)
(D)

(1)
(2)
(3)
(4)

(A) 1

() 3

(B) 2

(D) 4
Answer Given by Candidate : A

(1 A-OD. (B-ILD), (C)-1I), (D)-(IV)
(2)  (A)-AD. B)-(IV). (C)-D). (D)-(D
3 A-av), B)-1D). (O)-D). (D)-(ID)
(4)  (A)-aD. (B)-IV). (C)-1D). (D)-(D
(A) 1

(B) 2

(Cc) 3

(D) 4

Answer Given by Candidate : B

Sl. No.20

QBID:1007370

Mateh List I with List IT ;

List I
Forest
Milk
Water

Food

(A)-(IIL). (B)-(T). (C)-(IWV}, (DH-(IT)
(A}-(IV). (B)-(IT). (C)-(III). (D)(I)
(A)-(I). (B)-(IIT). (C)-(IV). (D)-(IT)
(A(ID). (B)-(IV). (C)-(I1L). (D)(I)

List IT
(I) Bacteria
(I) Taste
(III) Trees

(IV) Oxvegen

Choose the correct answer from the options given below :




Sl. No.21
QBID:1007371

The polynomial p(x)=ax®+bx*+x—-6. when divided by x+2 and x-2 leaves the
remainders 0 and 4 respectively. then

(1) a=2.b=0 (2) a=

(3) a=0.b=2 4 a=

(A)
(B)
©
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.22
QBID:1007372

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) : If the areas of two circles are in the ratios 16 : 25 then their circumferences
are in the ratio 4: 5

Reason (R) : If the areas of two circles are in the ratios A : A then their circumferences
are in the ratio \."E : \,-"I_ :

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (4)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct
(4) {A) 1= not correct but (R) 1= correct
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C
SI. No.23

QBID:1007373

The diameter of a sphere is 6 cm. It is melted and drawn into a wire of diameter 4 mm. Then
the length of wire is

(1) Hbd m 2y 36m
(3 18m 4d) 9m

(A)
(B)
(©
(D) 4
Answer Given by Candidate : B

W N =

Sl. No.24
QBID:1007374




If @ and b are the roots of quadratic equation x* +ax—-b=0 and b= 0. then

1) a:=—1.b=l (2) a:l.b=—1
2 2
(3) a=—1.b=2 4) a=1. b=%
(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.25

QBID:1007375

A three digit number is chosen at random. the probability that its hundred’s digit. ten's digit
and unit's digit's are consecutive integers in descending order. 1s

1 2
(1) e (2)
45 225
4 1
(3) — 4 =
225 ) 5
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.26

QBID:1033001

Find @ = (b * &)

where, E=f+j—£

b=i-j+k
E=:—j—f
() i-j
(2) 2% -2]
(3) 27-2f
) j-i
(A) 1
(B) 2
(c) 3
(D) 4




Tz, G=i+j—k
hodejul
E=i-j—k
(1) I3
(2) 2 -2j
(3) 2j-2i
) G
(A) 1
(B) 2
(c© 3
(D) 4
Answer Given by Candidate : B
Sl. No.27
QBID:1033002

Given, A=x"+y' + 7
x=rsin B cos q)
y=rsin Osin¢

Z=I‘COSB

d
Then, — wvalue will be

(1 2r
(2) r
(3) r
(4) 2¢

(A)
(B)
©
(D)

A W N =




'«‘Tﬁ'A—x:+yJ+;ﬁ2
x*rsinecosq}
),'Trsinesinq)

z=rcos B
T —— FT A ZAT
r
(1) 2r
(2) r
(3) r
(4) 2
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.28

QBID:1033003

Integrating factor of the differential equation,

(1)
LF.= Qd
J o
(2)
LF. = Pd
J P
(3)
LF.= Pdx
J

4)
LF.= Qdx
J

(A)
(B)
©
(D)

A W N =

dy

X

+ Py = (Q is given by




WH’FFI?T‘UT% + Py = Q1 &% % (LF) ¥

(1) LF. =EI Qdy
@ LF.= I Pdy
(3) LF.= _r Pdx

4 LF.= _r Qdx

(A)
(B)
()
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.29
QBID:1033004

Among the following equations. which is a homogeneous equation 7

(1) dy x4+ 2y

dx T 2¢ + 3
@ dy 23 + y?
dx T 32+ 22
©) dy X+
dc — 3+ 2y
) dy X2 + 2y°
dx T 2@+ 4y
() 1
(8) 2
) 3
(D) 4

e AT | R A-AT FHTER AT E 2

) dy X+ 22
dx T 2@ + 3y°
(2) dy 23 + y?
dx ~ 3x2 + 22
3) dy x*+y°
dx T 3 + 2y
@ dy X2+ 22
dx T 2@ + 4y?

(A) 1




(B) 2

(©) 3
(D) 4
Answer Given by Candidate : D
Sl. No.30
QBID:1033005
Ifx+y+z=a,y+z=ab, z=abc. The valueofM 15
a(a, b, c)
(N —a’b
2) a’b
(3) ab’
(4) —ab’
(A) 1
(B) 2
(c) 3
(D) 4

'ﬂﬁx+y+z=a,y+z=ab,z=abc?ﬁ'M T AT 21T
d(a, b, c)

(1) —a'h

(2)

(3 ab”

(4) —ab”

(A) 1
(B) 2
©) 3

(D) 4
Answer Given by Candidate : D

Sl. No.31
QBID:1033006

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.
Assertion A :

14+ 2
Modulus of the complex number =it = i}E‘ is 1.

Reason R :
Multiplication of 3 + 4i with 7 — 3i gives result as 33 + 19i.
In the light of the above statement, choose the correct answer from the options

given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A are R are true but R is not the correct explanation of A
(3) A is true but R is false
(4) A is false but R is true
(A) 1
(B) 2
) 3
(D) 4




T FERTIUE: tFaE AT T RRE e AT @O S FETRF

=TH |
FFrFaTA -

1+ 2
At aF | _ T FTHEFT 18

FITOR :
3+4iTATT - 3 FTIAET 33+ 191 2 |
IULIE FAAT F AT |, 7 20 A0 FF § 7 78T 39 FT TG AT

(1) AFTRAIMI AT E AT R, AFT AT =TT R

(2) A T R AT A7 £, 9T R, A F7 727 == 981 2

(3) AT, ATFT R AT E

(4) AFTTE AFTRATE
(A)
(B)
((9)

(D) 4
Answer Given by Candidate : D

W N =

Sl. No.32
QBID:1033007

Given below are two statements :

Statement [ :

The order of a differential equation is the order of the highest differential
coefficient present in the equation.

Statement II :

The degree of a differential equation is the degree of the lowest derivative after
removing radical sign and fraction.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both statement [ and statement II are correct
(2) Both statement [ and statement II are incorrect
(3) Statement I is correct but statement Il is incorrect
(4) Statement I is incorrect but statement 11 is correct
(A) 1
(B) 2
() 3
(D) 4




FITI:

FAFAa A 7 Ffe, aHrET § IvFed Igaw aawe nE f w0
FgTI

FATAA THFL i Gofy, TR § Ty aawed £ Aoft, 39 g9 Ger g faw
grRa et g

LI FAAT F AATE &, A 20 I et § 7 F=9 I 397 A7 4T Fon

(1) Faq | AT F47 [ 291 A2 2
(2) FAF 1 A7 F47 11 2T 747 2
(3) FA9 1 HET 2, ATHFA FAT [T 2
(4) FAF 17797 2, AT FAT 1 A2 7

(A) 1

(B) 2

©) 3

(D) 4

Answer Given by Candidate : C

Sl. No.33

QBID:1033008

A fluid motion given by v = (r + z)i +(z +x) j+(x+ y)k is

(1) Solenoidal
(2) Rotational
(3) Both solenoidal and rotational
(4) Irrotational
(A) 1
(B) 2
©) 3
(D) 4

B =(t+2)i +(z+x) ] +(x+ )k FTT AT AT AT A B

(1) RIECHEEIR]

2 ouif
(3) A1 gfATEET Far it
4) T
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.34

QBID:1033009




Which of the statements given below are correct?

A
B.
C

D

E.
Choose
(1)
()
()
()
(A)
(B)
©)
(D)

A W N B

mo o w e

If the dot product of two vectors 1s zero, then vectors are perpendicular
to each other.

Work done is a dot product of force and displacement.

Vector preduct 1s commutative.

Vector preduct 1s associative with respect to a scalar.

The scalar product of two non-zero vectors 1s always positive.

the correct answer from the options given below :

Aand C
Band C
A BandD
Cand E

7t a7 Af=e 1 A= [EET 7 9 A UF A F AaFaaq g |
T T T = e e w5 afEer e

Atz QUAET F8 AT FET E

Hfzer oAES U dfEer F FEy § AEEad 2

AT |fes I 3 78 2 w7 afEer g wiw aATw 2T R

A BT e ® HE 39 #6999 e

et F997 7§ 9 #1987 £ 2
(1 ATATC
(2) B 74T C
(3) A BFITD
4) CHAaTE
(A) 1
(B) 2
©) 3
(D) 4

Answer Given by Candidate : A

Sl. No.35

QBID:1033010




Match List I with List I :

List ! List IT
1 Transverse vibration of a / d 2!" _ 323"
 string : ate = ax2
2%u 1 au 1 9%u
B.  Two-dimensional heat flow 1. —— 4+ — 8_ + —— =
ar rar r a8
2
C.  One-dimensional heat flow 11 ﬂ = 2 ﬂ
at ax?
Two-dimensional heat flow . 9 2u 3%u _
2 in polar form 42 3x2 * ayz =0
Choose the correct answer from the options given below :
1) A1V, B—i, CI, D-1iF
(2} A1l B-1H, C-I, D-{V
(3) A1 BV, Il DI
{4} A=l B, C-IV, D
(A) 1
(B) 2
©) 3
(D) 4
AT 1% |1 AT 1177 T i
il =T 11
; 92 9
A mrrEfisr AT ET L g = o2 2";
at d X
°u 1 au 1 3%u
B. fE-wmarHT FoaT 9989 L — 4+ —— + - —
ar  r ar R e
du a%u
C. TF-AATHT FHT 9= 1L = ¢2
at ax?
gty =7 & fE-aramdt s ?%u  d%u
D. V. — + — = 0
EEED) o X ay

= B o fEEeT #1399 1 99 fifte

(1) A-IV, B-1, C-II, D-III
(2) A-IL, B-II1, C-I, D-IV
(3 A<l B-1V, C-III, D-II
(4) A-IIL, B-I1, C-IV, DI
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.36

QBID:1033011




Given below are two statements :

Statement I :

The general displacement of a rigid body with one point fixed is a rotation about
same axis.

Statement If :

The most general displacement of a rigid body is a translation plus a rotation.

In the light of the above statements, choose the most appropriate answer trom the
options given below :

(1) Both statement [ and statement I1 are correct
(2) Both statement [ and statement 1 are incorrect
(3) Statement I is correct but statement II is incorrect
(4) Statement I is incorrect but statement 11 is correct
(A) 1
(B) 2
(c) 3
(D) 4
faTTFERTImE:
FHTl

TF 98 AF, W1 UF {575 T AAZ 2, T G AeT T THAT IAHT AT e
FATI
T G¢ A% FT AT ATAT AT THHT SATAAL0T 74T 00 2 |

TYLIE FAAT F AAE H, A4 20 70 FFeTt § 7 q99 390G 397 F 49 Ffer

(1) F4 1 47 F47 [ 5141 721 2
(2) F49 1 1T F47 11 T71 T4 &
(3) FAT T S, AT T T 2
(4) FT 1 79T 2, AT F49 [ 727 2

(A) 1

(B) 2

(C) 3

(D) 4

Answer Given by Candidate : B

Sl. No.37

QBID:1033012

The correct relationship between Cartesian coordinates (x, v, z) and the spherical
polar coordinates (r, 8, (I)] is

(N x=rsinBsin:y=rsinOcosdrr=rcos O
(2) x=rsin8c:}sq):y=rsinﬂsin(|xz=rcose

(3) x=r;y=rsinB;z=rcos

4 x=rcnsB:y=rsinﬂcos¢;z=rcosﬂcos¢
(A) 1
(B) 2
©) 3

(D) 4




FrT S (x, y. z) T AT g B (o 9. P) F wdt waea 2

(1) x=rsin@sind:y=rsinOcos Per=rcos O
2) x=rsin@cos P: y=rsin O sin §x z=rcos B
(3) X=r }'=1‘si11q)12=rcos¢
(4) x=rcos B: y=1sin O cos §x z=rcos B cos P

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : D

Sl. No.38

QBID:1033013

Consider a planet moving in an elliptical orbit around the Sun. Which of the
following quantities will remain constant in a planetary motion as seen from the

Sun ?
(1) Speed
(2) Angular Velocity
(3) Kinetic Energy
(4) Areal Velocity
(A) 1
(B) 2
(c) 3
(D) 4

F Ug A F AN AT UF 29917 Fq H TTAAE 8 | qT F AT T2 79 7 77
Fra-#t Trforat syt () =8 2 2

(1) =T
(2) FTofrTr 39
(3) LIEEET1]
) e
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.39

QBID:1033014




Given below are two statements :
Statement I :

The product of the area of cross-section and the speed remains the same at all ponts
of a tube in laminar flow.

Statement II :

If the pressure in a liquid is changed at a particular point, the change would be
transmutted 1n the entire liquid, with diminished magnitude

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both statement I and statement IT are correct
(2) Both statement I and statement II are incorrect
(3) Statement I 1s correct but statement IT 1s mncorrect
(4) Statement I is mcorrect but statement IT 15 correct
(A) 1
(B) 2
(c) 3
(D) 4
Fra g fErar .
FuTl

UF FAT § 7 F AI-THIT TATE F 2 Al TAT AT T2 F ATFA T OAFA
v F A A war g |

FUT Il

7t 3= ¥ Feft FBfere g o =3 ot g & 97 ag aiEds s 9 1=
ufraTr F =7 | #=iE ZEaT 2

TILITE FAAT & ATAF |, 749 =20 70 FF=i § 7 7999 399G I9L F TI9 Fo
(1) F9 [ 7 F97 [1 Z14T 727 &

(2) F | A7 F47 1 41 T4 2
3) Fa9 | 72T 2, AT FqT [T 2
4) FA9 [ 99 2, AT F497 [ AZT 2

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : Not Answered

Sl. No.40

QBID:1033015




Which of the statements given below are correct 7

Al The linear momentum of a particle is independent of the frame of
reference.
B. The kinetic energy of a particle depends upon the frame of reference.
C. In an elastic collision, the initial kinetic energy is equal to the final
kinetic energy.
D. In an inelastic collision, the kinetic energy first increases then
decreases.
E. In an elastic collision, the linear momentum is not conserved.
Choose the most appropriate answer from the options given below :
(1) A B
(2) B.D.E
(3) B,C
(4) C,D,E
(A) 1
(B) 2
) 3
(D) 4
et saat F a s 9218 ?

el o FT T AU A B A=A 2ET e |

B. Tt o1 7 e ST Aed W T AT AT 2
WETE] 257 |, TEEAF A ST 17 257 % 975 ATaH T
FAT FATETEETZ |
D. ATATT 757 |, A FoA1 T2 a5dl 2 A7 e a=ar 2
E. TEATRT TET § T T4 A A2 2T 2 |
= o T BT § |1 9= I I F AT HiA
(1 A B
2) B.D.E
(3) B.C
4) C,D,E
A) 1
(B) 2
©) 3
(D) 4
Answer Given by Candidate : B
Sl. No.41

QBID:1033016

A satellite is revolving round the Earth at a height of 3600 km. Then, the time
period of the satellite is

{Assume, Radius of Earth = 6400 km, Mass of Earth = 6 X 0™ kg)

(1) 2-77 hours
(2) 1-77 hours
(3) 1-61 hours

(4) 16-1 hours




(A) 1
(B) 2
(c) 3
(D) 4

T ITE TAT 7 3600 . fr T wemdHrhmm s i i wm I
HATTFTA FTE ?

(@fz, o=t i Brear = 6400 fft., vt g = 6 X 10™ )

() 277 %
(2) 1-77 %
(3) 1-61 5=
(4 161 5=
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : D
Sl. No.42

QBID:1033017

A reference trame attached to the Earth

(1) is an inertial frame by definition.

(2) is an inertial frame because Newton's laws are applicable in this
frame.

(3) cannot be an inertial frame because the Earth is revolving around
the Sun.

(4) cannot be an inertial frame of reference because Newton's laws

are not applicable.

(A)
(B)
(©)
(D)

A W N =

TAT H F7 UF 729 B
(1) TIRATITAT UF e W 2
(2) TF WEA T WH E T T A F Faweam Eda E )

(3) TF AEATT R Tl g1 THAT FH TAT TF F T AT THFAT F2 720

A
(4) T AEATT WH TET ET THAT FAF T 72 F Aaw 7wy a8 2

(A) 1
(B) 2
©) 3

(D) 4
Answer Given by Candidate : C




Sl. No.43
QBID:1033018

Match List I with List II :

List ] ListII
A, BiguartzPolarimeter L Optical refractive index
B. Michelson's Interferometer IL Diftracting screen
I Zone Plate ML Mountings
D. Concave Grating V. Optical Rotation

Choose the correct answer from the options given below :

(1 A1, BII, C-IV, D-1
2) A-IV, B-1, C-1, D-II

(3) A-III, B-IV, C-I, D-II

) A-IV, B-1, C-1, D-III
A) 1
(B) 2
(c) 3
(D) 4

=T 1% ATF 7HAT 11 %7 Hae e

T T 11

A ATAFTES T 6= L PEArhp R EETIED
B. OTEFAA T TF 02T IL. IEEELR L]
C. A ML SR

D. FATA ATAT V. gwrefrr i

F= B o Gt § 7 72 397 & 999 e

(1) A-IL, B-TII, C-1V, D-1
2 A-IV, B-1, C-1IL, D-TII
3) A-TII, B-1V, C-1, D-TI
) A-IV, B-1I, C-I, D-TII

(A) 1

(B) 2

(C) 3

(D) 4

Answer Given by Candidate : D

Sl. No.44
QBID:1033019




Given below are two statements
Statement I -

A Line spectra contains information about atoms.

Statement IT :

A Band spectra contains information about molecules and atomic clusters.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both statement I and statement I are true
(2) Both statement I and statement IT are false
(3) Statement I 1s true but statement I 1s false
4) Statement I 1s false but statement II 1s true
(A) 1
(B) 2
©) 3
(D) 4
= ST Rraw g
FHTI :
U YT T § ATy A g AT et g
FYTI :

TF gt TIEE § 9] UF T w0 & are § auer AR St g
IULIh BAAL & AATH J, A =0 A0 Fwedt § 7 "el 39 B T99 DI

(1) FAF [ A7 F99 [ a1 AA &
(2) I [ 7 F97 [ EHT AAA &
3) FAT [ TA ¢, A 597 [ ATA &
(4) FIA ] AT . A AT [ TA ¢
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : A

Sl. No.45
QBID:1033020




Motion of a Particle is shown in the figure. At which point does the particle have
unstable equilibrium ? (where U is the potential energy)

U

(1)
2)
(3)
)

mgm

(A)
(B)
(©)
(D)

A W N =

Fearsd mw For frafad s o 2| Ge R s w o e 22
CEANRIEEETIE)

U

(1)
(2
(3
(4

mgQgwE

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.46
QBID:1033021




The relation between quality factor Q and relaxation time t of an oscillator is

(W being angular speed)

(1) W
Tt
(2) in
w
(3) Q=wt
) _ 1
Cwt
(A) 1
(B) 2
(c) 3
(D) 4

e ST SrEdT i 4 W § 3 7 gedh (Q) Tt [FHid wre (1) H Aaw g

W
(1) Q=—
t
t
(2) Qi
w
3) Q = Wit
1
(4) =
wt
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : D
Sl. No.47
QBID:1033022

What 15 the Lissajous figure of two rectangular S.H M. s (Simple Harmonic Motion)

of equal frequencies and phase difference of L ?

(1) Ellipse

(2) Circle

(3) Straight line
(4) Parabola
(A) 1

(B) 2

(©) 3

(D) 4




AT ATAATHIT (ATAATT) FIA Aa4 T Fo=eht (SHM's) A 747 FAT97 7807 & #7
IEEIESRETE Eank o

(1) S
(2) ERl

(3) =1eft =T
4) TTEAT
(A) 1

(B) 2

(©) 3

(D) 4

Answer Given by Candidate : B

Sl. No.48
QBID:1033023

When a body is set into oscillation by an external periodic force of the same
frequency as the natural frequency of the body, the phenomenon is known as

(1) Stiffening
(2) Resonance
(3) Damping
(4) Reverberation
(A) 1
(B) 2
(c) 3
(D) 4

F T arterd faT 97T 8, 98 9T FEAnl 2

(1) e
(2) AT
(3) EERED]
4) O
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.49

QBID:1033024




The equation for a wave travelling in x-direction on a string is

y = (30 cm) sin[(3-14 cm )x— (314 s )t
What is the maximum velocity of a particle of the string?

(1)
(2)
(3
()

(A) 1
(B) 2
(c) 3
(D) 4

9-4 m/sec
9-2 m/sec
9-4 cm/sec

9-() cm/sec

e TET H x PR F = 7 A A A §
y=(3:0 cm) sin[(3-14 em™)x - (314 57')(]

TEAT F UF FOT FT ATFAT AT FATE ?
(n 9-4 HT/H.
(2) 92 HT/H.
(3) 9-4 FHT/A.
(4) 9-0 FHT/A.
(A) 1
(B) 2
(C) 3
(D) 4

Answer Given by Candidate : C

Sl. No.50

QBID:1033025

Which 1s the correct option ?

(1) The energy of any small part of a string remains constant in a travelling
wave.
(2) The energy of any small part of a string remains constant in a standing
wave.
(3} The energies of all the small parts of equal length are equal 1n a travelling
wave.
(4) The energies of all the small parts of unequal length are equal in a
standing wave.
(A) 1
(B) 2
©) 3
(D) 4
T AFeT FT R 2
(1) AT F99 F U T o TAT 3 | T S A e 2
(2) METTETF = F A g B fr s A Ear g |
(3) THT 7997 F T AW s F g Fet i 590 a6 gt #

(4)

TITE FO F AT AT =L F g Fe T ST AN w2




(A) 1

(B) 2

() 3
(D) 4

Answer Given by Candidate : C

Sl. No.51
QBID:1033026

The engine of a moving train sounds a whistle at frequency V. Then the frequency
heard by the passenger in the train is

(1) =V

(2) <

(3) e 1

%)

4 =P
(A) 1
(B) 2
(c) 3
(D) 4

TF & % Zoi T AT F eat Framglr V 2 59 29 § T35 a0l g wqe et
Frarga

(1)

W

=
M
< <

4 -

(A) 1
(B) 2
(©) 3

(D) 4
Answer Given by Candidate : B

Sl. No.52
QBID:1033027

A plano convex lens of radius 350 cm 1s placed on a flat plate and illuminated by
monochromatic light gives the 6% bright ring of diameter 0-68 cm. What is the
wavelength of the light source used ?

(1) 5000 A
(2) 6000 &
3) 5500 A
(E)) 6500 &

(A) 1

(B) 2

(C) 3

(D) 4




350 7T Fr=ar #7 A9-399 919 UF A9G W2 U7 14T 2 7 TFRGT THTer T WA
I 97 0-68 FHT ZATH FT ZAT A1 T FATAT 8 | T T30 a1 sawrer 7 a2 #47

g7

(n 5000 A
(2) 6000 A
(3) 5500 A
(4) 6500 A
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C
Sl. No.53
QBID:1033028

For a zone plate the focal length of red colour is given by :

(fg. fy. fyr are respective focal lengths for red, yellow and violet colours)

(1) fe <fv
(2) tr =1y
(3) fp =fy
(4) fg =iy

(A) 1

(B) 2

(©) 3

(D) 4

e afrr afEET (I ) F Fro o ot £ s 7 e 2nfre
(=T fy, fy, i FHT: =T, Fer v ST 1 £7 T 777 2)

(1) fr<fv
(2) fr = fy
3) fr > fy
{4} l"R = f‘\'
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C
Sl. No.54

QBID:1033029




The electron microscope offers better resolution capability as compared to the
optical microscope primarily because

(1) Electron microscope uses the shorter wavelength of radiation.
(2) Electron microscope uses better electronic circuits.
(3) Electron microscope uses complicated accessories.
(4) Electron microscope uses larger objective lenses.
(A) 1
(B) 2
() 3
(D) 4

wTrT qemraeft £t FemT F seagia geweeft £ forem awar f2aw 2 & it
(1) Seihe qewaeft § =g ket A = Iwm Far 2

(2) Foig ewEeft 7 FgaT fregm afrra & s A E )

(3 3eiRei- mEeft 3 Sfee sl (FEEt) w A EET 2

4 soiehgiA geweeft # 7% grew Fa1 #1 T 2 2

(A) 1
(B) 2
©) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.55
QBID:1033030

A tube of sugar solution 20 c¢m long is placed between crossed Nicols and
illuminated with light of wavelength 6 % 107 em. If the optical rotation produced

is 13° and specific rotation is 65°/dm/g/cm’, then what will be the strength of the
solution used 7

(1) 100%
(2) 10%
3) 50%
(4) 20%

(A) 1

(B) 2

(c) 3

(D) 4

20 #HT =eAT 1T F Ferm i 7o =1 s Ferer F i wft 2 aar
6 > 107 FHT T3 F THT9 7 200 FT AT 2 | 37 Ty ot 130 7ar Efdre
IO 65/ /TS &, 71 T e orfeE = gt 2

(1) 100%
(2) 10%
(3) 50%
(4) 20%

(A) 1




(B) 2
©) 3
(D) 4

Answer Given by Candidate : D

Sl. No.56

QBID:1033031

Given below are two statements :

Statement I :

The magnitude of the emf & induced in a conducting loop is equal to the rate at

which the magnetic field changes with time.

Statement IT -

If a conducting plate moves out of a magnetic field. the relative motion of the field

and conductor induced a current in the plate.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both statement [ and statement IT are correct
(2) Both statement [ and statement II are incorrect
(3) Statement I 15 correct but statement IT 1s incorrect
(4) Statement I is incorrect but statement IT is correct
(A) 1
(B) 2
() 3
(D) 4
dFaTTFa Rraw
FTI
T FATAF Zeet (T191) H U = avEE 79 (emf) e F wRAT [EEET 97 F a6y
FATT IEET f W HFAAAE |
FYTI

TfE UF ATAT TE TEART AT F FTET AAT 2, AT ATAF AT T &7 it Arata
afe, = F Freg gy ah e 2
TN FAAT F AT 7, A= B T FEent #§ 7 7= I 397 #7999 S

(h
(2)
(3)
4

(A) 1
(B) 2
©) 3
(D) 4

F49 1 317 F49 [1 =491 787 &
FA | A F47 11 2471 1979 £
FAT I A, A FAT 9§
FA9 [ T 2, AT FA9 [ 727§

Answer Given by Candidate : A

Sl. No.57

QBID:1033032




Al

B.
C.

D.

(D
(2)
(3)
4

(A) 1
(B) 2
) 3
(D) 4

Which of the statements given below are correct ?

An electric dipole has its least potential energy when it's moment is lined
up with the field E .

In a uniform electric field, the net force on an electric dipole is zero.

The electric dipole’s potential energy is defined to be maximum when
dipole moment is parallel to applied electric field.

The density of field lines in any region is inversely proportional to the
magnitude of the electric field in that region.

Choose the most appropriate answer from the options given below :

(1) B.C
(2) B.D
(3) C.D
(4) A, B
A) 1
(B) 2
(c) 3
(D) 4
T st g a sAaTagr2 2
A. e e R # Rutas st Fems 2t & 53 7o At B
A E FATTUFETEATHZIAETE |
B. TFAaE FEE aT A, Eem Ry T am e EAT 2
C. Frem Ry & Fufaw 59t aftmay whrafim 2t 2 5= foga areef
AT T A A4 F AT g |
D.

T 4= ¥ Ta= a9 w3 7 99, S e H Hemm Emm i F
TTETT ¥ SFERATATE T 2T |

= B Bt ¥ 7 799 30 397 1 99 Fie

B,.C
B.D
C,D
A B

Answer Given by Candidate : A

Sl. No.58
QBID:1033033




Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Statement A :

The electric potential inside a conductor is constant.

Reason R .

The net charge density inside a conductor is zero.

In the light of the above statements, choose the correct answer from the options

given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A is true but R is false
(4) A is false but R is true
(A) 1
(B) 2
(c) 3
(D) 4

farFmfRnms: rvamm AT =T RfRm e Ao T F FEURF
T |

HAFITA :

T F1F F W B fra fyw (vewmmE) 2Er
FTTOR

T =T % Wi F Ao T e e 8 |

I FIAT & ATAF |, A9 B 0 FweTt § 7 79 39 #7297 Fire
(1) AFTREIMI AT E AT R AT AT =TT E
(2) AFTRAMTATE, AT R, A FTHET =TT 721 2
(3) AT AFT R AT E
4 AFAAE, ATFARATE
(A) 1
(B) 2
©) 3

(D) 4
Answer Given by Candidate : B

Sl. No.59
QBID:1033034




Match List I with List II :

List 1 List 11
A Inductance L TmA™
B. Magnetic field 1L Tm*A™
[ 5 Permeability I11. Tm’A
D. Magnetic energy Iv. NA'm”’
Choose the correct answer from the options given below :
(1 A-IL, B-I11, C-1, D-1V
(2) AL, B-IV, C-I1L, D1
(3) A-TV, B-1IL, C-1, D11
(4) A-1L B-1V, C-1, D-1II
(A) 1
(B) 2
(c) 3
(D) 4
AT 1 F AT =T 1177 T i
qHT 1 qAT I
A. YT L AT H/ferT (TmA ™)
B. TEE AT IL. T W mfETT (TmA™)
C. T 1. AT H2 Ui (Tm’A)
D. TEH FoAT Iv. =z uierET H (NA 'm
#= B o e § 7 79 397 w7 99 fifw
(1) A-IL, B-11I1, C-1, D-1IV
(2) A-IIT, B-IV, C-1I1, D-I
(3) A-TV, B-I1, C-1, D-II
(4) A-IL, B-IV, C-I, D-III
(A) 1
(B) 2
) 3
(D) 4
Answer Given by Candidate : A
Sl. No.60

QBID:1033035

The concept of displacement current is introduced in which of Maxwell's law of

electromagnetics 7

(1) First law

(2) Second law

(3) Third law

(4) Fourth law
(A) 1

(B) 2




(<) 3
(D) 4

oA F Frem-eadny et & & s fereermam ey o s s wfeargs
T mar 2

(1 EECIREE L

(2) EGARERE]

(3 A e

4 =T A

(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : D

Sl. No.61
QBID:1033036

The electric potential at Point P is

Qq=-12nC
5m &
} Bm
7 A _
Qy=+18nC Pe—3m— @3=+6nC
(1) 98-89 V
(2) 6293V
(3) 4495V
(4) 899 V
(A) 1
(B) 2
©) 3

(D) 4




g P = Frerm fraa &1 9 2em

Qq=-12nC
5m 5m
I
7 ol S Qa=+6nC

Qy=+18nC Pe—3m—s 3

(L 08-89V

() 6293V

(3 4495V

(4) 8§99V
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.62

QBID:1033037

The magnetic field at a distance R from the centre of a long wire of radius a (a = R)

varies
(1) inversely with R?
(2) inversely with a
(3) directly with R
(4) directly with a
(A) 1
(B) 2
©) 3
(D) 4

a BT =791 Tg9 7199 9 F F= A R (a > R) T 77 g g wivafda gar
(N R’ ¥ S[ERATITET
(2) a & FEHATATAT
(3) R % FHTITAT
(4) a & AHTITAT
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : A

Sl. No.63




QBID:1033038

A circular loop of wire, 20 mm in radius carries a current of § A. The value of

energy density at the centre of loop is

(1) 1-28 % 107 J/m®
(2) 12871 x 107 Jm®
3) 1-28 % 107 Jm®
(4) 1-281 x 107 Jm?
(A) 1
(B) 2
(c) 3
(D) 4

20 Y. B ¥ iz ¥ 8 uftrw B e =fza 2 | s F = 7 ot
T FTHA 2

(1) 128 % 107 =/
(2) 1281 % 107 @/
(3) 128 % 107 @/
C)) 128 x 107 s/

(A) 1
(B) 2
©) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.64
QBID:1033039

A plane wave Eltx' t) = EOI em"  —wb Tappmaches an interface (yz plane)

between two linear media with velocity v, The value of B(x. t) in the reflected

wave 15
E —_— Fa
(1} % E|{|'i1){ wt) k
1
E e et
o _ vOI BIr: kqx mt}k
1
EOI ik % = -
3) Ry g
1
E b — Fa
@ v1:}_| Sl k= wh
1
(A) 1
(B) 2
(c) 3
(D) 4




TF A T E (x, 1) = E, o sl 3 e st F AT (y2 7) T
vy FT AT & | T T 7 Be(x, ) FTARAE

E -
(I.) Ol eL{i(1x WﬂE
V1
EOI (= kx — wi ~
(2) -—e ! K
Vi
3) _ EOI ik ~ wt}R
1
E
ol (- kyx — wli
4) — e k
V1
(A) 1
(B) 2
(C) 3
(D) 4
Answer Given by Candidate : C
Sl. No.65

QBID:1033040

In the circuit shown below, the value of current 1 through the battery just after the
switch is closed is

100
20mH 100
oV ‘I:
(1) 0-5A
(2) 1-0A
(3) 220A
(4) 0A
(A) 1
(B) 2
(Cc) 3
(D) 4

ATt g AT T F A F T AR NI AT FTAH 2

10 Q
AT
1 20mH 10 Q
10V T
-~
(1) 0-5 A
2) 1-0 A
(3) 20 A
(4) 0A

(A) 1




(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C

Sl. No.66
QBID:1033041

The internal energy of a Boson gas becomes zero at
(1) T<Tc
(2) T>Tc
(3) T=Tg
4) T=0

(A)
(B)
(©)
(D)

A W N =

Fro o T AT S o A AT 2
(1) G G
2) T Te
3) T=Tc
(4) T=0

(A)
(B)
©
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.67
QBID:1033042

A Carnot engine is made to work between — 23°C and — 223°C. Its efficiency is

(1 89%
2) 80%
3) 10%
) 20%
(A) 1
(B) 2
(c) 3
(D) 4

T FIATE T - 23°C T9T - 223°C F 1= FTF F7 77 T AHAT 20T

(1 89%

2) 80%

(3) 10%

(4) 20%
(A) 1

(B) 2




(c) 3
(D) 4
Answer Given by Candidate : D

Sl. No.68
QBID:1033043

Mean free path varies

(1) linearly with number of molecules
(2) linearly with the diameter of the molecules
(3) inversely with the density of molecules
(4) linearly with the square of the diameter of molecules
(A) 1
(B) 2
(c) 3
(D) 4
HTET qeh T4 Tt d 2T 2

(N FTET FT HEAT F ATET (AT
(2) AO[AT F SAH F ATET (TATLIAT)

(3) AT F T & FAFTTET (FTARTIITAT)
(4) AT T FATH F TN F ALET (FATLATAT)
(A)
(B)
(©)

(D) 4
Answer Given by Candidate : D

W N =

Sl. No.69
QBID:1033044

When the temperature of a substance 15 raised from T; K to T; K. then change 1n
entropy is

(n 1 E
_ T.|
@ (T, \
me log, | =
T |
® AES,
me log, | /=
@ &, B
me log, | 77— —
T,-T5
(A) 1
(B) 2
) 3
(D) 4




wa f3fT =T #1 ATTHTE Ty K& T, K 98787 47 £ 99 36! Gerdt & afmda grm

T?
1  —
(1) T,
T, |
> me log. |+
@) T, |
TI T T2 ‘l
melog. |— =
& T, |
me log. | =+
@) T,- Tz |
(A) 1
(B) 2
(C) 3
(D) 4
Answer Given by Candidate : B
Sl. No.70

QBID:1033045

The work done in an adiabatic change in a particular gas depends upon only

(1 change in pressure
(2) change in volume
(3) change in temperature
(4) change in heat

(A) 1

(B) 2

(c) 3

(D) 4

fa=lt Frem 7 o wgren afvaaw | FBar o 1 Frde Fwan 2, %9
(N HEE RIEELTi

(2) AT | ThEaT 17

(3) ATTHT | TEaT 97

4) FoRT § aftaaq =

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.71
QBID:1033046

A piece of ice of mass 10 kg 1s pushed with a veloeity of 10 mv/s along a horizontal
surface. The piece stops after travelling 30 meters due to friction between the piece
and the surface. If the latent heat of ice is 80 cal/g, then the mass of melted ice is

about

(1)
(2)
(3)
(4)

g e

0
&
0

i<

[ B R R




(A)
(B)
(©)
(D)

P W N =

10 FIT. =999 F UF % F 292 &1 10 WA, F 39 7 giasr @dg 9% g1 147 |
THE T HAE & WA F FET AE 30 WY, AT F TA 7% A4T 8 | AT TF FT W
FOAT 80 FATAT. & T4 T ATAT T T TSR AN 8

(1) 1-0 7.
(2) 1-5 7.
(3) 2:07m.
4) 0
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.72
QBID:1033047
Match List I with List IT :
ListI List IT
A (a—u I P
2s |,
B = (ﬂ ] I T
av ).
aG
C (ﬁ ; I 5
26 ; :
D. e 3T ] ; IvV. WV
Choose the correct answer from the options given below :
(1) A-1, B-II. C-TII, D-1IV
) A-IIL B-IV, C-I, D-TI
(3) A-TV. B-III, C-1II, DI
(4) A-II B-I C-IV, D-III
(A) 1
(B) 2
(C) 3

(D) 4




AT 1% |17 7= 11 77 Foarey i

T 1 T 10

ol
A. (ﬁ l L P
B. : !‘;i!? In. T
oG
& (ﬁ ]r III. S
G
D. o l IV. v
= B o Fret ¥ 7 9251 397 1 999 e
(N A-1, B-II, C-III, D-IV
(2) A-IIL B-IV, C-1, D-TI
(3) A-1V, B-1I1, C-II, D-1
() A-IL B-1, C-IV, D-III
(A) 1
(B) 2
) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.73
QBID:1033048

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

Every thermodynamic system in an equilibrium state possesses internal energy
which is a function of state only.

Reason R :

In thermodynamic system, energy is conserved.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A 1s true but R is false
(4) A is false but R is true

(A) 1

(B) 2

(c) 3

(D) 4




faaiFm R wamm AT v RE A O wF FEURF
=TH |

HTHFITA -

TAATTACAT F T ST = § [fET aats w=2f Fae =m0
AT

FITUR -
TR A § FAT G aa 2T 2

IULIF FHAT F A H, T B o et § 7 w587 397 w7 974w fifen
(1) AFTREIAIATE AT R AFT AT ATHTE

(2) A 3T R =91 777 £, 51T R, A FT 7E =TEAr A9 2

(3) AT E AT R AT E

4 AT E ATFATIRATE

A) 1

(B) 2

() 3

(D) 4

Answer Given by Candidate : C

Sl. No.74
QBID:1033049

Given below are two statements :
Statement [ :

The change in enthalpy during an isobaric process is equal to the heat transferred.
Statement {1 :

The internal energy of a system is the energy which is available for work in
reversible isothermal change.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both statement [ and statement I1 are correct
(2) Both statement [ and statement 11 are incorrect
(3) Statement I is correct but statement II is incorrect
4) Statement I is incorrect but statement II is correct
(A) 1
(B) 2
©) 3
(D) 4




AT Faa RTao #

FYTI

AT TIHAT F FTr qUireHT (Uhedt) F afrads, Tt S F e EEAT |

FgTl

e T fir aratr S, Ay yerae afEdT F #1929 0T T E

FULTTE FAAT F AATF 7, A0 =30 70 Fweqt F 7 799 3T I T T4 Hirew

(1)
(2)
(3)
(4)
(A) 1
(B) 2
() 3
(D) 4

FA7 1 317 F47 11 T T21 &
F9 [ A7 F47 11 TET T 2
FA | TET 2, AT FAT 1T 2
FAA 1 T 2, AT F47 [ 722

Answer Given by Candidate : C

Sl. No.75

QBID:1033050

Which of the statements given below are correct 7

A,

B.

C.
D.

E.

For a closed system undergoing a cycle of processes, the cyclic integral
of heat is equal to the cyclic integral of work.

The mean free path of the molecules of a gas is independent of the
absolute temperature of the gas.

The work done by the system is zero in an isochoric process.

The internal energy of the system does not change in an adiabatic
process.

In an adiabatic process, temperature remains constant.

Choose the most appropriate answer from the options given below :

(1)
(2)
3)
()

(A) 1
(B) 2
©) 3
(D) 4

A C
B,CE
B.D.E
A D




FrafaiaT saaf § T FAT a2 2 7

A. S == AT § 0 AT o gt Sh b s, s atae
T F AT EEAT 2

B. 97 % AT FT AT T T4, T F e arraE w ST aEi 2
C. T AT TiHAr 7 AT g e T e e 2
D. =g wiFaT § FET it a9 ahaEaa ag ZEr g |
E. Felt sz wieeaT & amoae P g 2
#r= 3w o FrereTt § F 799 I 397 w7 99 fiie
(n A C
(2) B,C,E
(3) B,D,E
4) AD
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : A

Sl. No.76
QBID:1033051

In a scattering by elementary particle experiment, the scattering cross-section
depends upon the energy (E) of the incident particle, Planck’s Constant (h) and
Velocity of Light (¢). On the basis of dimension, scattering cross-section would be
proportional to

(1) he 2
£)

@ he Y2
€)

(3) h )2
E‘g ]

) H
=

(A) 1

(B) 2

() 3

(D) 4




HITer FO1 % TAET 5T TH00 |, T AT FT2 AT F7 51 501 (E), =0
AT (h) 9T THT F A (c) T AT Fa7 | FEA F arane 97 who gqued
FTZ ARTIET 20T

(1) r’m)z
E
@ [he}?
)
@ [.B1°
E-c ]
@ P
E
A) 1
(B) 2
©) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.77
QBID:1033052

Match List [ with List I :

List 1 List I1
Frank-Hertz Experiment L. Wave nature of particle
B. Zeeman Effect IL. Quantization of energy level of
electron in atom
C. Davisson-Germer Experiment III.  Existence of spin
D. Stern-Gerlach Experiment IV.  Space quantization of angular
moment

Choose the correct answer from the options given below :

(1) A-IV, B-IL, C-I, D-III
(2) A-I, B, C-IL D1V
(3) A-IL, B-IV, C-1, D-111
(4) AL, B-IV, C-IIIL, D1

(A) 1

(B) 2

(c) 3

(D) 4




TqHT 15 A7 7= 11 7 Feme fife

AT T 11
A. B FES TATT L FoT ¥ T TFA
B. ST THTE IL AT # TRTOA F HET w9 A6
arHTI
A -STHT AT ML IO 1 AiEA
D. = -ATET TET Iv. FTOT AT FT #0 THTI
Fr=r faw o Freet # 7 7 399 #7747 fifaw
(1) A-1V, B-II, C-1, D-III
(2) A-1, B-II, C-II, D-IV
(3) A-1, B-1V, C-1, D-1II
(4 A-II, B-1V, C-III, DI
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.78
QBID:1033053

The expectation value << x> of the position of an electron trapped in a box of
width L 15

(1)

(2)

(3)
C))

(A) 1
(B) 2
(c) 3
(D) 4

L =12TE ¥ U 9= 9r | fRua seiaeq i feufa F7 srfia g <X=> #
(1)

° - &P

(2)

(3)

4
(A)
(B)
©)

(D) 4
Answer Given by Candidate : C

SNl alr T

W N =




Sl. No.79
QBID:1033054

In black body radiation in a cavity. photons are created and annihilated as a result of
emission and absorption by the walls of the cavity because

(1) Photon has one spin.
(2) Entropy of the photons is very high.
(3) Chemical potential of the photon is zero.
(4) Photon obeys Pauli’s exclusion principle.
(A) 1
(B) 2
©) 3
(D) 4

FTAT 7 | Fr=dra AT § wrerday 1 gere 4t Fever, FAreT g dEerrr
FAT THAT F TIOTHEET 24T 2 FA1F

(1 Fiel 1 gU UF Fan 2|

(2) w6t Tt FEA AR 2

(3) ®IZH T AT e o 2

4 HIei AT TSt RrgTe 7 e wAT

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : D

Sl. No.80
QBID:1033055
The de-Broglie wavelength of an electron in a metal at 27°C is

{Boltzmann Constantk =1-38 X 1075 I mel™ K™

Planck's Constanth = 6-62 X 107 Js) is

(1) 62 nm
(2) 3-1 nm
(3) 31 pm
4 6-2 pm

(A) 1

(B) 2

(c) 3

(D) 4




27°C 7 ot umg & geiaeia £ Fr-anrft arwded F g o i
(Frezoria FaaF k=138 X 1077 T mol K

= FaaF h=662 X 107 Js)
(n 6-2 nm (497 #1.)
(2 3-1 nm (497 #1.)
(3) 3-1 pm (=T HT.)
@ 62 pm T
(A) 1
(B) 2
©) 3

(D) 4
Answer Given by Candidate : A

Sl. No.81
QBID:1033056

An electron is known to have a speed of 200 m/sec to an accuracy of 1%. What is
the minimum uncertainty with which its position can be estimated ?

(1 14-46 pm
(2) 2%-93 pm
(3) 0-2846 pm
4) 0-1446 pm

(A) 1

(B) 2

(c) 3

(D) 4

1% TEeraar o v Teer o &t " 200 74 2 | Faw Rt war aef e
okt gt Fr e 2T 7

(n 14-46 pm (ATZHT H)
(2) 2893 uym
(3) 02846 pm
(4) 01446 pm
(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : D
Sl. No.82

QBID:1033057

Two 1sotopes of Chlorine 13$C| and :;’;CI do not have same

(1) Colour (Yellow)

(2) Suffocating odour

(3) Efficiency (as poisons and bleaching agents)
4 Boiling and freezing points

(A) 1




(B) 2
©) 3
(D) 4

mﬁ#%ﬁwmﬁ??{:l Era'rﬁ{:lﬁﬁ'arm#fﬁmél
(1) AT 3T

(2) TH-HTZ T
(3) o1 (= 797 e #9F 5 =0 H)
4) FaATE F497 FATE
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C
Sl. No.83
QBID:1033058

An electron (m, = 0-511 Me‘\r’.-'cz) has an estimated momenta of 2-000 MeV/c, then
its total energy will be

(1 2-000 MeV
(2) 2-064 MeV
(3) 0
) 2:511 MeV
A) 1
(B) 2
(c) 3
(D) 4

TF TAFTIT (mg = 0-511 MeV/c™) FT T3 2:000 MeV/c, THHT T FAT 21T

(1) 2:000 MeV
(2) 2:064 MeV
(3) 0
(4) 2:511 MeV
A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : A
Sl. No.84

QBID:1033059

According to Moseley’s law, the frequency of the characteristic X-rays is
proportional to the square of

(1) Atomic number of the element
(2) Atomic weight of the element
(3) Mass number of the element
(4) Density of the element

(A) 1

(B) 2

©) 3




(D) 4

(1) T F TCHT FHIF
(2) AT F TIHT 917

(3) 779 & AEMd AT

(4) T F I9A

(A) 1
(B) 2
©) 3

(D) 4
Answer Given by Candidate : C

Sl. No.85
QBID:1033060

When an X-ray’s photon of wavelength -1 nm collides with an electron and is
scattered through 90°. What is the new wavelength of the X-ray’s photon ?

(1 0-2048 nm
(2) 0-1048 nm
(3) 0-1248 nm
(4) 0-1024 nm

(A) 1

(B) 2

(c) 3

(D) 4

0-1 &= o Ferdef F7 vs ven-fHEw Fraia, v Sodid H R £ 797 90° F
et 21 strar 2 r-Rew e ft A arde w £ 0

(1) 0-2048 nm (FHtex)
(2) 0-1048 nm

(3 0-1248 nm
4 0-1024 nm

(A) 1
(B) 2
©) 3

(D) 4
Answer Given by Candidate : D

Sl. No.86
QBID:1033061

What is the energy of emitted photo-electron if light of frequency 1 X 10" Hz is
incident on a sodium target 7

{(Work function of Sodium = 2-5 eV

Planck's constant, h = 6-63 % 107 Is)

(1) 201 x 1077
(2) 2:01 % 10771
(3) 263 x 1077
(4) 263 % 1077

(A) 1




(B) 2

(C) 3

(D) 4

afE 1 x 10'° (Hz) 7ot AT 7 S619r ATETH 77 97 Afaa 2t & a1 Ieavea
THETST-Terae] i FaT F T8 ?

(MRIT FTFA FAT = 25V

AT Faa® (h) =663 X 107 Js)

(1) 201 % 107" J ()
(2) 201 % 10777
(3) 263 x 107°°]
4) 263 x 107717
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : D
Sl. No.87

QBID:1033062

Rutherford scattering formula for scattering of Alpha particle by a thin foil depends
upon the Kinetic energy (E) of the Alpha particle as

(1) E’
(2)

3)

()

m|— r'g,‘_."”

(A)
(B)
(©)
(D)

A W N =

wfaw ==t () 7 Aw e Ardv swar &

(1)
(2)

(3

4

ml= m|~ ol

(A) 1
(B) 2
(C) 3
(D) 4
Answer Given by Candidate : C

Sl. No.88




QBID:1033063

The radius of the innermost orbit is customarily called the Bohr radius of the
hydrogen atom. Its value is

(1) (-5292 picometer
(2) 52-92 picometer
(3) 5-292 picometer
(4) 529-2 picometer
(A) 1
(B) 2
(c) 3
(D) 4
ZTTSTS TIHT F Aq7aH F4 ATLTI0E: A7 AT FEATATE | THHRTHA 2

(1) 0-5292 frFTHE=T (pm)

(2) 52:92 HFTHET
(3) 5-292 HHTHET
4) 5292 HrHTHET

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : D

Sl. No.89
QBID:1033064

In a CE configuration of npn transistor the base curve looks like that of

(1) Zener diode
) LED
(3) Ordinary diode
4) Photodiode
(A) 1
(B) 2
(c) 3
(D) 4
T CE FHTEHA AT npn Zifoe= § Argm 9% R F o397 ZaT 2
(1) ST =TS
(2) T T
(3) HTETIOT STATE
4) FEIETATE
(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : C
Sl. No.90

QBID:1033065




Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

Number of atoms present in the unit cell of hep structure is 6.

Reason R :

Packing factor in hep structure is 68%.

In the light of the above statements, choose the correct answer from the options

given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A is true but R is false
(4) A is false but R is true
(A) 1
(B) 2
(c) 3
(D) 4

fasrTsFmRoawd: wafrm AT ET PR e T AT FF FETRF

ETH |

HTAFITA -

hep FTFAT #T IAZ 71 § 6 T7HT IFE0F £ |
FITUR

hep FEEAT H HFHAT 0 68% 2 |

TULIE FAAT F AT F 7, A B et § 7 /96 397 #6759 e

(1) A #iT R THT AT & T R, A FT At =AT=AT 2

() A & R Z11 727 £, A0 R, A Fit 7 = 185 2
(3) ATHZ AT R AT E

(4) AT, AFTRATE

(A)
(B)
©)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.91
QBID:1033066




The emitter current for the pnp transistor is

0-10V
Ry =10k c=36kQ
22 kR
RE= 1k
(1 10 mA
(2) I mA
(3) 1-8 mA
(4) 11 mA
(A) 1
(B) 2
(©) 3
(D) 4
pnp ZiTsrE=T ¥ form (Scasts um) 2
0-10V
Ry =10kQ Re =36k
2:2 kQ
Rg = 1kQ

(1 10 mA (. wferae)
(2) 1 mA

(3) 1'8 mA

) 11 mA

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : B

Sl. No.92
QBID:1033067




Given below are two statements :

Statement I :

Mobility of electron is negative and hole is positive.
Statement Il :

Mobility of electrons and holes are both positive.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both statement [ and statement I1 are correct
(2) Both statement [ and statement 11 are incorrect
(3) Statement I is correct but statement II is incorrect
(4) Statement I is incorrect but statement II is correct
(A) 1
(B) 2
© 3
(D) 4
fTTFA ETATE
FHTI
zarTA it AfAeft=aT FoTeRs T4T 21 T g a2
FgT Il :

TEFIIA AT 21 2T i TR efaT aareTE gt £

TULIF FAAT & ATATF |, A= =20 0 FEFeTi § 7 999 I0gF I97 F 99 FaAw

(1) F49 [ A7 F47 [1 41 T2 F
(2) FA | 7 T4 11 F1 AT E
(3) F99 | HET 2, A0 #4711 &
(4) FI9 [ 199 2, ATT F47 [ 72T &
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.93
QBID:1033068

Among following applications, which is the correct application of transistor 7

(1) Clamper
(2) Rectifier
(3) Clipper
(4) Switch

(A) 1

(B) 2

() 3

(D) 4




(1) fardsTr (Felvm)
) forgrrt (FAAET)
() e (FRm)
(4) =

(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : B

Sl. No.94
QBID:1033069

Closed loop voltage gain of an inverting amplifier is given by

(1) The ratio of input resistance to feedback resistance.
(2) Feedback resistance divided by input resistance.
(3) Input resistance multiplied by feedback resistance.
(4) Difference of input resistance and feedback resistance.
(A) 1
(B) 2
©) 3
(D) 4

T gt gedF fiT 97 ey Fam Ay e g S e g
(1) e wfeerg ar qq.fferse affwrg 1 agmma
@ - fafere aferg w7 R aEmg F gz =
(3) e e = g ffe s F o F=r 0w
4 e wfawra aar g fafame w1 =7
(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : A

SI. No.95
QBID:1033070

When binary 110-001 is converted to a decimal number the answer is

(1) 7-125
(2) 6125
3) 7-75
4 675

A) 1

(B) 2

(c) 3

(D) 4




feamurl sz 110-001 & =orm=g T § F=a+ T oH £

(N 7125
(2) 6125
(3) 775
(4) 675
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A
Sl. No.96

QBID:1033071

Packing fraction of bee, fee and sc can be represented as

{Where, fce — face centered cubic

sc — simple cubic

bee — body-centered cubic systems)

(1) fec=sc> bee
(2) s¢ = bee =fee
(3) s¢ < bee <foe
(4) bee <fec<sc

(A) 1

(B) 2

(C) 3

(D) 4

bee, fee TAT sc FT @A wanT fw & f=fia Gy amr g
(T2, fec — W He2 T
sc—ﬁqﬂ'ﬂﬁﬁ?

bee — ATIET H2E FfaT )

(1) fee = sc > bee
(2) sc > bee = fee
(3 sc < bee < fee
(4) bee < fee < sc

(A) 1

(B) 2

) 3

(D) 4

Answer Given by Candidate : D

Sl. No.97




QBID:1033072

In the following transistor circuit, [} = 100 and Icq is negligible. The transistor

currents are

[Given, Vpg = 0-7 V]

(1) Ic=1mA, Iz=1mA
(2) Ic =001 mA, Ig = 1 mA
(3) Ic= 1 mA, Iz = 0-01 mA
(4) Ic =01 mA, Ig = 0-01 mA
(A) 1

(B) 2

(c) 3

(D) 4

e zifsree aira 5, p = 100 T4T 1o T 2 | Zifem=s g &

[T T &, Ve =07 V]

330 K 1K

(1) Ic=1mA, Ig=1 mA
2) Ic =001 mA, Iy = 1 mA
3) Ic =1 mA, Iy = 0-01 mA

) Ic =01 mA, Iy = 0-0l mA




(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : C

Sl. No.98
QBID:1033073

Three audio signals are given m the sumnung amplifier as shown in the figure.
What 15 the ac output voltage among the followmng options 7

100 k&2
ARAANA

Chord 1 20 kO
100 mVo—AMAA—— 15V

Chord? 20 kQ I:
200 my/® AMAAN 741 C

Chord 3 25 kQ
200 my—"VWW\—r

+

=18V

(1) —27V
2) 31V
(3) 31V
) 27V
(A) 1
(B) 2
() 3
(D) 4

e oy § T o Tifirs wad=s # &7 g5 @5 99 7, et gemad Fas
FFe HaFTE?

100 kQ
AN
Chord 1 20 kQ2
100 MV o—AAAAA—— 15V
Chord2  20kQ \J\
200 mVe—" VWA , ™ C Vout
Chord3  25kQ [/(
o AAANA—
200 mV | g
(1 ~27V
) ~31V
(3) 31V
(4) 27V
(A) 1
(B) 2
©) 3
(D) 4

Answer Given by Candidate : B

Sl. No.99




QBID:1033074

Given are the following equations.
A A+B_AB
B. A+A=A

C. A+B.C=(A+B)C
D. A+AB=A

Choose the correct answer from the options given below :

(1) BandD
(2) Aand C
3) Cand D
) AandD
(A) 1
(B) 2
(C) 3
(D) 4
fe2 T wefte 2
A A+ B_AB
B. A+E=A
i A+B.LC=(A+B)C
D. A+AB=A
1= B v FrEeTt § 7 77 397 7 999 fiien
(1) B#TD
(2) Ad#dC
(3) CH#TD
(4) A#TD
(A) 1
(B) 2
) 3
(D) 4
Answer Given by Candidate : D
SI. No.100

QBID:1033075

In binary arithmetic circuits

A 1-1=0
B 0+1=0
C. 1+1=10
D 10+1=111
Choose the correct answer from the options given below :
(1) Aand B
(2) Band C
(3) Aand C
(4) Cand D
(A) 1
(B) 2
(c) 3
(D) 4




Tearerd it wivmat #

A 1-1=0
B. 0+1=0
e 1+1=10
D. 10+1=111
= B et § 7w 5= w T A
(1) A #TB
(2) B #7 C
(3) AFTC
(4) C#TD

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : C




